AR FEAINIERTIIE
WBRETSV - HIRAINBETI0T N istan 0

I I http://www.net-nagase.co.jp

(BB © )
20165F8A1RE
AN
L eFUHALINRETSVY o
JIS 5K JIS 10K
& 2 B | OJ—bk | RILMRE | B B | O—bk RILMRE | TR
15A | 720 910 | 1,260 |[M10X50| 4 900 | 1,210 | 1530 |[M12X50| 4
20A | 780 | 1,000 | 1,260 IM10X55| 4 980 | 1,310 | 1530 [M12x55| 4
25A | 870 | 1,220 | 1,430 " 4 | 1,430 | 1,870 | 2290 [M16X60| 4
A 32A | 1,000 | 1530 | 2170 [M12x55| 4 | 1660 | 2300 | 3030 |[MI6X65| 4
40A | 1210 | 1,600 | 2340 " 4 || 1,800 | 2560 | 3,320 " 4
50A | 1,330 | 1,920 | 2910 " 4 || 2250 | 3170 | 3,950 " 4
- 65A | 2170 | 3120 | 3770 IM12x60| 4 | 2780 | 4290 | 5190 " 4
= 80A | 3040 | 4250 | 5990 [M16x65| 4 | 3380 | 4970 | 6450 " 8
= 100A | 3590 | 4970 | 6790 |[M16Xx70| 8 | 4040 | 5970 | 7,590 " 8
125A | 4630 | 6630 | 8720 I 8 || 6230 | 8910 | 12040 [M20x75| 8
150A | 5970 | 9260 | 11,410 [M16Xx75] 8 | 7,960 | 11,590 | 14,800 [M20x80 8
22
K
; QI IYAINRETS VI ®LKISVY (ABY) ®
JIS 20K Lk (7.5K)
i +E |2-8| 33—k |KRIVLMRE | 78 & 2 B |3d—b KRILMRE &
2 20A | 1,920 | 2350 [M12x50| 4 BOAIN| 2,000 | 2900 | 2,930 IM16X75| 4
5 25A | 269 | 3360 |[M16X60| 4 BOAX| 2,190 | 3450 | 3,580 " 4
z 32A | 3840 | 5040 [M16X65| 4 B5A| 2,540 | 3990 | 4,390 " 4
40A || 5400 | 6720 " 4 80A| 2,710 | 4,340 | 5040 |[M16X85| 4
50A | 6960 | 8400 " 8 100A| 3,630 | 5790 | 7,000 " 4
5 65A | 8460 | 10,080 [M16X75| 8 125A| 4,880 | 7,410 | 9,430 " 6
7 80A | 10,020 | 11,760 |[M20X75| 8 150A| 5610 | 83860 | 11,860 " 6
L7 100A | 11,520 | 13,440 |[M20x80| 8 75X 40A|  — — | 12,500 " 4
- 75x BOA|| — — | 12,500 " 4
100X B0A| — — | 15,600 " 4
% 100X 78A| — — | 16,250 I 4
& 150X BOA| — — | 26,650 7 6
3 160X 75A] — — | 26,650 Z 6
0 150x100A| — — | 26,650 I 6
K
. 80751k — — [ 12,500 " 4
1 100954F | — — 15,600 " 4
5 e — | 26,650 I 6
10K
BF5MUR | — — 4560 IM16X75] 4
N

B6  sxAHAOJICBROME. s HREFEAEBT 32 EHBYETOTITREE, ERICISEEREISThTHYEA.



